
CHEMISTRY

BOOKS - A2Z CHEMISTRY (HINGLISH)

SOLID STATE

Classification Of Solids Crystalline Solids Crystal

Lattice Unit Cell And Crystal System

1. Choose the correct statements

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FLWN7Dj97Xp8


A. equivalent points in unit cells of a

periodic lattice lie on a bravais lattice

B. equivalent points in unit cells of a

periodic lattice do not lie on a bravais

lattice

C. There are four bravais lattices in two

dimension

D. There are five bravais lattices in two

dimension

Answer: A

https://dl.doubtnut.com/l/_FLWN7Dj97Xp8


Watch Video Solution

2. Amorphous substances show

(A) short and long range order 

(B) short range order

(C ) long range order(D ) have no sharp 


A. B and D are correct

B. B and C are correct

C. C and D are correct

D. A and C are correct

M. P

https://dl.doubtnut.com/l/_FLWN7Dj97Xp8
https://dl.doubtnut.com/l/_Ir7HWsII0Xex


Answer: A

Watch Video Solution

3. CHARACTERISTICS OF CRYSTALLINE SOLID

A. long range solids

B. short range solids

C. Disordered arrangement

D. None of these

Answer: A

https://dl.doubtnut.com/l/_Ir7HWsII0Xex
https://dl.doubtnut.com/l/_deAwcQhdalPK


Watch Video Solution

4. Among solid the highest melting point is

established by

A. Covalent solids

B. lonic solids

C. pseudo solids

D. Molecular solids

Answer: B

https://dl.doubtnut.com/l/_deAwcQhdalPK
https://dl.doubtnut.com/l/_zFFonoQnQhK8


Watch Video Solution

5. Crystalline solid are

A. Sugar

B. Rubber

C. Plastic

D. Glass

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zFFonoQnQhK8
https://dl.doubtnut.com/l/_zCOZGC4joBbo
https://dl.doubtnut.com/l/_KMfzTOWacgMQ


6. A crystalline solid

A. Changes abruptly from solid to liquid

when heated

B. Has no definete melting point

C. Undergoes deformation of its geometry

easity

D. Has an irregular J- dimensional

arrangements

Answer: A

https://dl.doubtnut.com/l/_KMfzTOWacgMQ


Watch Video Solution

7. Consider the following incomplete sentence

(i) When most liquids are cooled, they

eventually freeze and form ….

(ii) Ice is a…..

These are complated by

A. column = I supercooled liquid ,column =

II crystalline solid

B. column = I crystalline solid ,column = II

crystalline solid

https://dl.doubtnut.com/l/_KMfzTOWacgMQ
https://dl.doubtnut.com/l/_yJrU86NCNFmx


C. column = I supercooled liquid ,column =

II supercooled liquid

D. column = Icrystalline solid ,column = II

supercooled liquid

Answer: B

Watch Video Solution

8. Amorphous solid are

A. Supercooled liquid

https://dl.doubtnut.com/l/_yJrU86NCNFmx
https://dl.doubtnut.com/l/_I9ZSmpKp21Iv


B. Liquid in real sense

C. Solid substance in real sense

D. Substance with definite melting point

Answer: A

Watch Video Solution

9. The solid  is a bad conductoe of

electricty since

A. in solid  there are no ions

NaCI

NaCI

https://dl.doubtnut.com/l/_I9ZSmpKp21Iv
https://dl.doubtnut.com/l/_nTtWYcP2Ym3V


B. solid  is covalent

C. in solid  there is no velocity of

ions

D. in solid  there are no electrons

Answer: C

Watch Video Solution

NaCI

NaCI

NaCI

10. Graphite is a soft lubricent extremely

difficuit to melt .The reason for this

anomalous behaviour is that graphits

https://dl.doubtnut.com/l/_nTtWYcP2Ym3V
https://dl.doubtnut.com/l/_nrPxR6ml13lx


A. is a non-crystalline substnace

B. is n non-allotropic form of diamond

C. has molecules of variable molecular

masses like polymers

D. has carbon atoms arranged in large

plate of ring of stongly bound carbon

atoms with weak interplate bonds

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nrPxR6ml13lx
https://dl.doubtnut.com/l/_suVdf7gtFine


11. A match box exbibits

A. Cabic geometry

B. Orthormabic geometry

C. Monoclinetry geometry

D. Tetragonal geometry

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_suVdf7gtFine


12. Silica  can be crystalline as well as

amorphes with following properties

(I) it has hight and sharp melting point 

(II) Crystalline 

(III) The  letrahedral are randomly joined

to give polymeric chains or three -

demensional sheets 

Which of the properties is/are matced with

amophous solids?

A. II and III

B. only III

(SiO2)

SiO2
4

https://dl.doubtnut.com/l/_bXtELj1fXioT


C. I and III

D. I and II

Answer: B

Watch Video Solution

13. The existence of a substance in more the

one solid mdiffications is known as//or .Any

compound having more than two cystal

structures is called

https://dl.doubtnut.com/l/_bXtELj1fXioT
https://dl.doubtnut.com/l/_lSdIz4noAG3a


A. Polymorphism

B. Isomorphism

C. Allotropy

D. Enantionmorphism

Answer: A

Watch Video Solution

14. Which of the following characteristics

is/are possessed by non- polar molecular

solids?

https://dl.doubtnut.com/l/_lSdIz4noAG3a
https://dl.doubtnut.com/l/_Tsr03O9CcWt5


A. They have low melting point and are

usually in liquid or gaseous state at

room temperature and presure

B. Atoms or molecules are held by weak

dispersion foeces or Londom forces

C. They are soft and non-conductors of

electricity

D. All of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Tsr03O9CcWt5


15. Which is not a property of solids?

A. Solids are always crystalline in nature

B. solid have hight density and low

compressinility

C. The diffusion of solid is very slow

D. Solids have definete volume

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Tsr03O9CcWt5
https://dl.doubtnut.com/l/_wmfsMYV0yECx


16. Which one of the following is the most

correct statement?

A. Brass is an interstitial alloy, while steel is

a substitutionaly alloy

B. Brass and steel are both substitutional

alloys

C. Brass is a substtitutional alloy, while

steel is an interstitial alloy

D. Brass and steel are both interstial alloys

https://dl.doubtnut.com/l/_wmfsMYV0yECx
https://dl.doubtnut.com/l/_3bKK3S4mk03h


Answer: b

Watch Video Solution

17.  and  crystallize in bcc- and fcc-type

crystals, respectively, then the number of

atoms of  and  present in the unit cell

of their respective crystal is

A.  and 

B.  and 

C.  and 

Na Mg

Na Mg

4 2

9 14

14 9

https://dl.doubtnut.com/l/_3bKK3S4mk03h
https://dl.doubtnut.com/l/_CRvryoeWAtT0


D.  and 

Answer: D

Watch Video Solution

2 4

18. Which solid will have the weakest

intermolecular forces?

A. ice

B. Phosphorus

C. Naphthalene

https://dl.doubtnut.com/l/_CRvryoeWAtT0
https://dl.doubtnut.com/l/_TZszvOmUt7zf


D. Sodium fluoride

Answer: a

Watch Video Solution

19. Which of the following exists as covalent

crystals in the solid state?

A. Sulphur

B. Phosphorus

C. lodine

https://dl.doubtnut.com/l/_TZszvOmUt7zf
https://dl.doubtnut.com/l/_VmCLusvffigW


D. Silicon

Answer: d

Watch Video Solution

20. Which of the following statements is not

true about amorphous solids?

A. The constituent particles are arranged in

a regular fashion containing short range

as well as long range order

https://dl.doubtnut.com/l/_VmCLusvffigW
https://dl.doubtnut.com/l/_SAyp3tXWXT9N


B. When kept for a long time time , they

may become crystalline

C. They are be moulded by heating

D. They are isotropic in nature

Answer: A

Watch Video Solution

21. The sharp melting point of crystalline

solids compared to amorphous solids is due

to

https://dl.doubtnut.com/l/_SAyp3tXWXT9N
https://dl.doubtnut.com/l/_YbBWHEW5qbeR


A. differenct arrangement of constituent

particles in differenct directions

B. same arrangement of constituent

particles in different directions

C. a regular arrangement of constituent

particles observed over a short distance

in the crystal lattice

D. a regular arrangement of constituent

particles observed over a long distance

in the crystal lattice

https://dl.doubtnut.com/l/_YbBWHEW5qbeR


Answer: D

Watch Video Solution

22. In graphite, carbon atoms are joined

togather due to

A. Covalent bonding

B. van der waals forces

C. Metallic bonding

D. lonic bonding

https://dl.doubtnut.com/l/_YbBWHEW5qbeR
https://dl.doubtnut.com/l/_U7v101GTfQqR


Answer: A

Watch Video Solution

23. Which of the following is a molecular

crystal?

A. ice

B. NaCI

C. Graphite

D. SiC

https://dl.doubtnut.com/l/_U7v101GTfQqR
https://dl.doubtnut.com/l/_QARGRFI7s269


Answer: A

Watch Video Solution

24. Which type of solid crystals will conduct

heat and electricity?

A. lonic

B. Metallic

C. Covalent

D. Molecular

https://dl.doubtnut.com/l/_QARGRFI7s269
https://dl.doubtnut.com/l/_OYv0c5y8WfaF


Answer: B

Watch Video Solution

25. The number of atom per unit in a simple

cuhic, face - centered cubic and body -

centered cubic are ….respectively

A. 

B. 

C. 

D. 

1, 4, 2

4, 1, 2

2, 4, 1

4, 8, 2

https://dl.doubtnut.com/l/_OYv0c5y8WfaF
https://dl.doubtnut.com/l/_ofyFDEfoSMr5


Answer: A

Watch Video Solution

26. The total number of lattice arrangements

in different crystal system is --------------- ?

A. 

B. 

C. 

D. 

3

8

7

14

https://dl.doubtnut.com/l/_ofyFDEfoSMr5
https://dl.doubtnut.com/l/_ByRxPl8qg1gh


Ssc Fcc Bcc Nearest Neighbouring Distance Next

Nearest Neighbouring Distance Packing Fraction

Answer: D

Watch Video Solution

1. In a face contact cubic cell, contribution of

are atom at a face of the unit cell is

A. 

B. 

1/2

1

https://dl.doubtnut.com/l/_ByRxPl8qg1gh
https://dl.doubtnut.com/l/_pn9n047Vl7wG


C. 

D. 

Answer: A

Watch Video Solution

2

3

2. A solid has a structure in which  atoms

are located at the corrent of a lattice  atoms

at the center of edges and  atoms at the

center of the cube.The formula for the

compound is

W

O

Na

https://dl.doubtnut.com/l/_pn9n047Vl7wG
https://dl.doubtnut.com/l/_nvWTbFDv558P


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NaWO2

NaWO3

Na2WO3

NaWO4

3. In a solid  having the  structure, A

atom occupies the corners of the cubic unit

cell. If all the face-centred atoms along one of

AB NaCl

https://dl.doubtnut.com/l/_nvWTbFDv558P
https://dl.doubtnut.com/l/_7I7XBpVCgyz0


the axes are removed, then the resultant

stoichiometry of the solid is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AB2

A2B

A4B3

A3B4

https://dl.doubtnut.com/l/_7I7XBpVCgyz0


4. A swubstance  crystallises in a face

cubic centred cubic (fcc) lattice in which 

occupy each corner of the cube and atoms 

occapy the centers of each face of the ci=ube

identical the correct composition of the

substance 

A. 

B. 

C. 

D. composition cannot be specified

AxBy

A

B

AxBy

AB3

A4B3

A3B

https://dl.doubtnut.com/l/_v2nliksVPE8f


Answer: A

Watch Video Solution

5. An element crystallises in fee lattice having

edge length  Maximum raduis of the atoms

which can be placed in the internal site

without distoring the structure is

A.  pm

B. 117 pm

C.  pm

350

58.55

51.23

https://dl.doubtnut.com/l/_v2nliksVPE8f
https://dl.doubtnut.com/l/_4j2X308VxVwI


D. 83 pm

Answer: c

Watch Video Solution

6. The number of atoms present in unit cell of

a monoatomic substance of simple cubic lattic

is

A. 

B. 

1

3

https://dl.doubtnut.com/l/_4j2X308VxVwI
https://dl.doubtnut.com/l/_NinE7eGZJVpV


C. 

D. 

Answer: A

Watch Video Solution

2

6

7. Sodium metal crystallises in body centred

cubic lattic with cell edge 427 pm .Thus radius

of sodium atom is

A. 429 pm

https://dl.doubtnut.com/l/_NinE7eGZJVpV
https://dl.doubtnut.com/l/_NvUz0Bjkg2h4


B.  pm

C. 186 pm

D. 185 pm

Answer: D

Watch Video Solution

214.5

8. The volume of atom present in a face-

centred cubic unit cell of a metal (  is atomic

radius ) is

r

https://dl.doubtnut.com/l/_NvUz0Bjkg2h4
https://dl.doubtnut.com/l/_GAQn6nQRBFLs


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

πr320

3

πr324
3

πr312

3

πr316

3

9. The edge of unit of  crystal is 620

pm .The radius of Xe atom is

FCCXe

https://dl.doubtnut.com/l/_GAQn6nQRBFLs
https://dl.doubtnut.com/l/_c1bbAlgDalpP


A.  pm

B.  pm

C.  pm

D.  pm

Answer: A

Watch Video Solution

219.25

235.16

189.37

209.87

10. A compound is formed by element A and B

.This crystallizes in the cubic stucture when

atoms A are the corners of a cube and B ions

https://dl.doubtnut.com/l/_c1bbAlgDalpP
https://dl.doubtnut.com/l/_3GqT3RdEy3tP


on the centres of the faces of the cube .The

emprical formula for the compound be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AB4

AB2

A2B

AB

https://dl.doubtnut.com/l/_3GqT3RdEy3tP


11. An ionic compound has a unit cell

consisting of A ions at the corners of a cube

and B ions on the centers of the faces of the

cube .The empirical formula for this compound

would be

A. 

B. 

C. 

D. 

Answer: C

AB4

A2B

AB3

A2B

https://dl.doubtnut.com/l/_QY7T4R3lLHPo


Watch Video Solution

12. Copper crystallises in fcc with a cell length

of 361 pm .What is the radius of copper

atoms?

A.  pm

B. 157 pm

C. 181 pm

D. 109 pm

Answer: A

127.6

https://dl.doubtnut.com/l/_QY7T4R3lLHPo
https://dl.doubtnut.com/l/_DHiJgCEEKTmV


Watch Video Solution

13. Percentage of free space in cubic close

packed structure and in body centered

structure are respectively.

A. 

B. 

C. 

D. 

Answer: A

48 % and 26 %

30 % and 26 %

26 % and 32 %

32 % and 48 %

https://dl.doubtnut.com/l/_DHiJgCEEKTmV
https://dl.doubtnut.com/l/_DtqTiF4y6ahk


Watch Video Solution

14. Percentage of free space in cubic close

packed struchure and in body centred

structure are respectively.

A. 

B. 

C. 

D. 

Answer: b

1.6 × 1021cm3

2.81 × 10− 23cm3

6.02 × 10− 23cm3

6.6 × 10− 24cm3

https://dl.doubtnut.com/l/_DtqTiF4y6ahk
https://dl.doubtnut.com/l/_y9aoKQNjZLIL


Watch Video Solution

15. In face centred cubic unit cell edge length

is

A. 

B. 

C. 

D. 

Answer: B

r
4

√3

r
4

√2

2r

r
√3

2

https://dl.doubtnut.com/l/_y9aoKQNjZLIL
https://dl.doubtnut.com/l/_DOcdskJLkdX5


Watch Video Solution

16. The edge length of a face centred cubic cell

of an ionic substance is  pm .If the radius

of the cation is 110 pm the radius of the anion

is ----------- pm

A. 114 pm

B. 288 pm

C. 398 pm

D. 618 pm

508

https://dl.doubtnut.com/l/_DOcdskJLkdX5
https://dl.doubtnut.com/l/_Pe9E03UjEsjq


Answer: A

Watch Video Solution

17. An elementoccurring in the bcc structure

has  unit cells .The total number

of atoms of the element in these cells will be

A. 

B. 

C. 

D. 

12.08 × 1023

24.16 × 1023

36.18 × 1023

6.04 × 1023

12.08 × 1023

https://dl.doubtnut.com/l/_Pe9E03UjEsjq
https://dl.doubtnut.com/l/_fVoAa8oNWBJw


Answer: A

Watch Video Solution

18. The interionic distance for cesium chloride

crystal will be

A. 

B. 

C. 

D. 

a

a

2

√3a

2

2a

√3

https://dl.doubtnut.com/l/_fVoAa8oNWBJw
https://dl.doubtnut.com/l/_RsbFomonnK2W


Answer: c

Watch Video Solution

19. Sodium metal crystallises in body centred

cubic lattic with cell edge  .What is the

radius of sodium atom ?

A. 

B. 

C. 

D. 

4.29Å

1.857 × 10− 8cm

2.371 × 10− 7cm

3.817 × 10− 8cm

9.312 × 10− 8cm

https://dl.doubtnut.com/l/_RsbFomonnK2W
https://dl.doubtnut.com/l/_0MYbpQ0XkX7o


Answer: a

Watch Video Solution

20. Lithium forms body centred cube structure

.The length of the side of its unirt cell is 351

pm Atomic radius of the lithium will be

A. 300 pm

B. 240 pm

C. 152 pm

D. 75 pm

https://dl.doubtnut.com/l/_0MYbpQ0XkX7o
https://dl.doubtnut.com/l/_7dmdwBFGIrl7


Answer: C

Watch Video Solution

21. In a face centerd lattice of  and 

atoms are present at the corners while 

atom are at face centers .Then the formula of

the compound is

A. 

B. 

C. 

X YX

Y

XY3

X2Y3

X3Y

https://dl.doubtnut.com/l/_7dmdwBFGIrl7
https://dl.doubtnut.com/l/_NDH2JNOLHGxe


D. 

Answer: A

Watch Video Solution

XY

22. The fraction of total volume occupied by

atoms in a simple cube is

A. 

B. 

C. 

π

2

√3π

8

√2π

6

https://dl.doubtnut.com/l/_NDH2JNOLHGxe
https://dl.doubtnut.com/l/_WnlQOkFz471c


D. 

Answer: D

Watch Video Solution

π

6

23. Silver metal crystallises in a cubic closed

packed arrangement with edge length 404 pm

.Thus radius of the silver atom is

A.  pm

B.  pm

203.5

138.8

https://dl.doubtnut.com/l/_WnlQOkFz471c
https://dl.doubtnut.com/l/_omhLqR1eWCkT


C.  pm

D.  pm

Answer: C

Watch Video Solution

142.8

407.0

24. Xenon crystallises in face - centered cubic ,

and the edge of the unit cell is 620 pm .The

radius of a xenon atom is

A.  pm438.5

https://dl.doubtnut.com/l/_omhLqR1eWCkT
https://dl.doubtnut.com/l/_tP7c3p2WsISS


B.  pm

C.  pm

D.  pm

Answer: B

Watch Video Solution

219.20

536.94

265.5

25. The length of the unit cell edge of a lattice

metal is 350 pm .Thus volume of atoms in one

mole of the metal is

https://dl.doubtnut.com/l/_tP7c3p2WsISS
https://dl.doubtnut.com/l/_oxCShENcMqej


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9.21cm3

7.25cm3

1.21cm3

4.00cm3

26. If  stand for the edge length of the cube

system simple cubic , body centred cubes and

face centred cubic ,then the ratio of radii of

a

https://dl.doubtnut.com/l/_oxCShENcMqej
https://dl.doubtnut.com/l/_mYUo3xbRsbqa


the sphares in these system will be

respectively

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

a : a : a
1

2

√3

2

√2

2

1a : √3a : √2a

a : a :
1

2

√3

4

1

2√2a

a : √3a :
1

2

1

√2a

https://dl.doubtnut.com/l/_mYUo3xbRsbqa


27. In a face centered cubic cell , an the face

contributes in the unit cell

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/2part

1/8part

1part

1/24part

https://dl.doubtnut.com/l/_eYVBLqSXCceI
https://dl.doubtnut.com/l/_jTauTXxmKzCY


28. The number of atom/molecules contained

in one body centered cubic cell is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

6

4

2

https://dl.doubtnut.com/l/_jTauTXxmKzCY


29. Stracture of unit cell is described in the

given figure packing fraction of the unit cell is?

A. 

B. 

0.521

0.907

https://dl.doubtnut.com/l/_e6fRkPAp0ClC


C. 

D. 

Answer: b

Watch Video Solution

0.093

0.745

30. Potassium crystallizes with a

A. Face - centred cubic lattice

B. Body - centered cubic lattic

C. Simple cubic lattic

https://dl.doubtnut.com/l/_e6fRkPAp0ClC
https://dl.doubtnut.com/l/_VoKqEfxPpLeK


D. Orlhorhombic lattice

Answer: b

Watch Video Solution

31. The packing fraction of the element that

crystallizes in simple cubic arrangement is

A. 

B. 

C. 

π

4

π

6

π

3

https://dl.doubtnut.com/l/_VoKqEfxPpLeK
https://dl.doubtnut.com/l/_QGGtTSwcqnpi


Ccp Hcp Octahedral And Tetral Voids

D. 

Answer: B

Watch Video Solution

π

2

1. Potassium crystallizes is a bcc lattice the

coordination number of potassiium in

potassium metal is

https://dl.doubtnut.com/l/_QGGtTSwcqnpi
https://dl.doubtnut.com/l/_S5wWGO3i7Uk7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0

4

6

8

2. Which one of the following schemes of

ordering closed packed sheets of equal sized

https://dl.doubtnut.com/l/_S5wWGO3i7Uk7
https://dl.doubtnut.com/l/_pFelQ3xqTWiV


spheres does not generate close packed

lattice

A. ABCABC

B. ABACABAC

C. ABBAABBA

D. ABCBCABCBC

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pFelQ3xqTWiV


3. In a compound atoms of element  form

ccp lattice and those of element  occupy 

 of tetrahedral voids. The formula of the

compound will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Y

X

2/3rd

X3Y4

X4Y3

X2Y3

X2Y

https://dl.doubtnut.com/l/_OpVoyNiGa5Sz


Watch Video Solution

4. Which of the following shaded plane in fcc

lattice contains arrangement of atoms 

A. 

https://dl.doubtnut.com/l/_OpVoyNiGa5Sz
https://dl.doubtnut.com/l/_XLrn5NKEKdCZ


B. 

C. 

D. 

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_XLrn5NKEKdCZ


5. Which one of the following option is correct

: 

A. I and II represent tetrahedral holes

B. II, III and IV represent tetrahedral holes

C. I and II represent octahedral holes

D. I II and IV represent octahedral holes

Answer: c

h id l i

https://dl.doubtnut.com/l/_uuQbVF88OT43


Watch Video Solution

6. A binary solid  has a zinc blende

stracture with B ions constituting the lattice

and  inos occupying  of the

terahedral holes. The formula of the solid is

A. 

B. 

C. 

D. 

(A+B− )

A+ 25 %

AB

A2B

AB2

AB4

https://dl.doubtnut.com/l/_uuQbVF88OT43
https://dl.doubtnut.com/l/_ieH6ZRGOszv0


Answer: c

Watch Video Solution

7. In the crystal lattice of diamond carbon

atoms adopt

A. fcc arrangement along with occupancy

of  lertabedral holes

B. fcc arrangement along with occupancy

of  lertabedral holes

50 %

25 %

https://dl.doubtnut.com/l/_ieH6ZRGOszv0
https://dl.doubtnut.com/l/_dQCwbUOJM5DT


C. fcc arrangement along with occupancy

of  octabedral holes

D. bcc arrangement

Answer: a

Watch Video Solution

25 %

8. If  is the number of atoms in the unit cell

that represent the closed packing sequence

 the number of

terrahedral in the unit cell is equal to

Z

− − − ABCAB − − −

https://dl.doubtnut.com/l/_dQCwbUOJM5DT
https://dl.doubtnut.com/l/_gtindwoRYjTk


A. Z

B. ZZ

C. 

D. 

Answer: b

Watch Video Solution

Z/2

Z/4

9. In a multilayered close - packed stracture

https://dl.doubtnut.com/l/_gtindwoRYjTk
https://dl.doubtnut.com/l/_k7NzaRfIiFmw


A. there are twice as many tetrahedral

holes as there are closed packed atoms

B. there are as many tetrahedral holes as

there are closed packed atoms

C. there are twice as many octahedral holes

as there are closed packed atoms

D. there are as many tetrahedral holes as

there are octahdralpacked atoms

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_k7NzaRfIiFmw


10. The number of octahedral and tetrahedral

sides in a cubical closed packed array of 

spheres respectively is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

N

N and 2N

N /2 and N

2N and N

4N and 2N

https://dl.doubtnut.com/l/_k7NzaRfIiFmw
https://dl.doubtnut.com/l/_z2looAVdWw1X


11. In a metal oxide , the oxide ions are

arranged in hexagonal close packing and

metal lone occupy two - third of the ocishedral

voids .The formula of the oxide is

A. 

B. 

C. 

D. 

MO

M2O3

MO2

M2O

https://dl.doubtnut.com/l/_z2looAVdWw1X
https://dl.doubtnut.com/l/_tofgKN57M0KX


Answer: b

Watch Video Solution

12. If  is the number of atoms in the unit cell

that represent the closed packing sequence

 the number of

terrahedral in the unit cell is equal to

A. 

B. 

C. 

Z

− − − ABCAB − − −

2Z

Z

Z/2

https://dl.doubtnut.com/l/_tofgKN57M0KX
https://dl.doubtnut.com/l/_iaoajs0abCPx


D. 

Answer: a

Watch Video Solution

Z/4

13. Coordination number in a square close

packed structure and hexagonal close packed

structure respectively are

A. 

B. 

6, 4

2, 6

https://dl.doubtnut.com/l/_iaoajs0abCPx
https://dl.doubtnut.com/l/_tf5MjfKklunK


C. 

D. 

Answer: d

Watch Video Solution

3, 6

4, 6

14. The arrangement

 is referred as

A. Cubic colose packing

B. Hexagonal close packing

ABC, ABC, ABC…….

https://dl.doubtnut.com/l/_tf5MjfKklunK
https://dl.doubtnut.com/l/_vDd4T86cHWU7


C. Teragonal close packing

D. Octahedral close packing

Answer: a

Watch Video Solution

15. In a  lattice of  atoms are

present at the corners while  atoms are at

face centeres .Then the formula of the

compound would be if one of the atoms from

CCP X and Y

Y

https://dl.doubtnut.com/l/_vDd4T86cHWU7
https://dl.doubtnut.com/l/_1stbN46k3OCV


a corner is replaced by  atoms (also

monovalent)?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Z

X7Y2Z2

X7Y24Z

X24Y7Z

XY24Z

https://dl.doubtnut.com/l/_1stbN46k3OCV


16. The maximum ra dius of sphere that can be

fitted fitted in the octabedral bole of cubical

closed packing of sphere of raius  is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

r

0.732r

0.414r

0.225r

0.155r

https://dl.doubtnut.com/l/_OP5vpaHT38yr


17. The number of octahedral sites per sphere

in fcc structure is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

1

4

2

8

https://dl.doubtnut.com/l/_X8sMW2QWCIqm


Structure Coordination Number Radious Ratio

Rule Density Of Unit Cell

1. For an ionic solid of the genral formula 

and coordination number  , the value of the

radius ratio will be

A. less then 

B. in bwetween  and 

C. between  and 

D. greater then 

AB

6

0.225

0.225 0.732

0.414 0.732

0.732

https://dl.doubtnut.com/l/_bcwMjyEQCai3


Answer: A

Watch Video Solution

2. The ratio of cationic radius to anionic eadius

in an inoic crystal is greater than  its

coordination number is

A. 

B. 

C. 

D. 

0.732

6

1

8

4

https://dl.doubtnut.com/l/_bcwMjyEQCai3
https://dl.doubtnut.com/l/_OaVKoaVyWw2K


Answer: C

Watch Video Solution

3. In orthorhombic , the value of a, b and c are

respectively  .Given the

molecular mass of the solur is 

and that of density is  the number of

formula unit per unit cell is

A. 

B. 

4.2Å, 8.6Å and 8.3Å

155gmmol− 1

3.3gm/

2

3

https://dl.doubtnut.com/l/_OaVKoaVyWw2K
https://dl.doubtnut.com/l/_nDY25kKZhmMZ


C. 

D. 

Answer: c

Watch Video Solution

4

6

4. The structure of  is similar to 

.What would be the radius ratio in ?

A. 

B. 

TICl CsCl

TICI

0.155 − 0.225

0.225 − 0.414

https://dl.doubtnut.com/l/_nDY25kKZhmMZ
https://dl.doubtnut.com/l/_BMYJYZAGzKPm


C. 

D. 

Answer: D

Watch Video Solution

0.414 − 0.732

0.732 − 1.000

5. In which of the following crystals, alternate

tetrahedral voids are occupied?

A. 

B. 

NaCl

ZnS

https://dl.doubtnut.com/l/_BMYJYZAGzKPm
https://dl.doubtnut.com/l/_nHDzUxIxKErk


C. 

D. 

Answer: B

Watch Video Solution

CaF2

Na2O

6. Which of the following cotains ruck salt

struture?

A. 

B. 

SrF2

MgO

https://dl.doubtnut.com/l/_nHDzUxIxKErk
https://dl.doubtnut.com/l/_0AdQUsFWCZWZ


C. 

D. All

Answer: B

Watch Video Solution

Al2O2

7. Structure similqar to zine blebde is found in

A. 

B. 

C. CuCI`

AgCI

NaCI

https://dl.doubtnut.com/l/_0AdQUsFWCZWZ
https://dl.doubtnut.com/l/_BDUILa0d1EH4


D. TICI`

Answer: C

Watch Video Solution

8. In  lattice the coordination number of 

 ion is

A. 

B. 

C. 

CsCI

Cs

2

8

4

https://dl.doubtnut.com/l/_BDUILa0d1EH4
https://dl.doubtnut.com/l/_xcI1avLJ8NfQ


D. 

Answer: B

Watch Video Solution

12

9. Potassium fluoride has  type structure

.What is the distance between  ions

if cell edge is a cm?

A. 

B. 

NaCI

K' and F

2acm

a/2cm

https://dl.doubtnut.com/l/_xcI1avLJ8NfQ
https://dl.doubtnut.com/l/_8wUQarcCYQFW


C. 

D. 

Answer: B

Watch Video Solution

4acm

a/4cm

10. In  lattic the coordination number of

 ion is

A. 

B. 

NaCI

CI

2

6

https://dl.doubtnut.com/l/_8wUQarcCYQFW
https://dl.doubtnut.com/l/_jwCs5j50EqUn


C. 

D. 

Answer: B

Watch Video Solution

4

8

11. A solid is made of two element  and 

.The atoms  are in  arrangement while

the atoms  occupy all the tetrahedral sites

.What is the formula of the compound ?

X Z

Z CCP

X

https://dl.doubtnut.com/l/_jwCs5j50EqUn
https://dl.doubtnut.com/l/_FE8XhkMhiHCn


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XZ

XZ2

X2Z

X2Z3

12. How many unit cell are present in a cubic-

shaped ideal crystal of  of mass ?NaCl 1.0g

https://dl.doubtnut.com/l/_FE8XhkMhiHCn
https://dl.doubtnut.com/l/_i1bZn9abb7L7


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

2.75 × 1021

5.14 × 1021

1.28 × 1021

1.71 × 1021

13. Select the corrent statement 

(a) The  of cation occupying a

tetrahedral hole is  

(s)

C. N.

4

https://dl.doubtnut.com/l/_i1bZn9abb7L7
https://dl.doubtnut.com/l/_KIpu0fYjzy4E


(b) The  of cation occupying an

octabedral hole is  

(c ) In schottky defects, density of the lattice

decreases

A. a,b

B. b,c

C. a,b,c

D. a,c

Answer: C

Watch Video Solution

C. N.

6

https://dl.doubtnut.com/l/_KIpu0fYjzy4E


14. A mineral having the formula 

crystaillises in the cubic closed packed lattic

with the A- atoms occupaying the lattice point

.Fraction of the betradral sites occupired by B-

atoms is

A. 

B. 

C. 

D. 

XY2

1.00

0.52

0.68

0.74

https://dl.doubtnut.com/l/_KIpu0fYjzy4E
https://dl.doubtnut.com/l/_6UZe3aq4JbyB


Answer: A

Watch Video Solution

15. CsBr has bcc like structures with edge

length . The shortest inter ionic distance

in between  and  is:

A. 

B. 

C. 

D. 

4.3Å

Cs+ Br−

3.72Å

1.86Å

7.44Å

4.3Å

https://dl.doubtnut.com/l/_6UZe3aq4JbyB
https://dl.doubtnut.com/l/_JP3JHjBeJUKX


Answer: A

Watch Video Solution

16. Experimentally it was found that a metal

oxide has formula , Metal , is present

as  and  in its oxid. Fraction of the

metal which exist as M_(+3)` would be :

A. 

B. 

C. 

M0.98 M

M+ 2 M+ 3

6.05 %

5.08 %

7.01 %

https://dl.doubtnut.com/l/_JP3JHjBeJUKX
https://dl.doubtnut.com/l/_noGyjmktpSa4


D. 

Answer: d

Watch Video Solution

4.08 %

17. crystallizes in body centred cubic

lattice. If  is its edge length then which of

the following expressions is correct ?

A. 

B. 

CsCl

' a'

rCs+ + rCI − =
a√3

2

rCs+ + rCI − = a√3

https://dl.doubtnut.com/l/_noGyjmktpSa4
https://dl.doubtnut.com/l/_AAZIhzgv7TPr


C. 

D. 

Answer: a

Watch Video Solution

rCs+ + rCI − = − 3a

rCs+ + rCI − =
3a

2

18. The number of atoms in  crystal

with density  and the edge

equal to 100 pm is equal to

A. 

100ganf

d = 10g/cm3

4 × 1025

https://dl.doubtnut.com/l/_AAZIhzgv7TPr
https://dl.doubtnut.com/l/_hHYF8b4Szaxb


B. 

C. 

D. 

Answer: a

Watch Video Solution

3 × 1025

2 × 1025

1 × 1025

19. What is the formula of a magnetic oxide of

cobalt used in recording tapes that crystallises

with cobalt atoms occupying one - eight of the

tetrabedral holes and one- half of the

https://dl.doubtnut.com/l/_hHYF8b4Szaxb
https://dl.doubtnut.com/l/_gH2y018dr3KX


octahedral holes in a closest packed array of

oxide inos ?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Co2O3

CoO2

Co3O4

CoO

https://dl.doubtnut.com/l/_gH2y018dr3KX


20. The coordination number of a metal

crystallizing in a hexagonal close-packed

structure is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6

8

4

12

https://dl.doubtnut.com/l/_oylZ0CcjJxBu


21. In the calcium fluoride structure, the

coodination number of the cation and the

anion are, respectively,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6, 6

4, 4

8, 4

4, 8

https://dl.doubtnut.com/l/_XLyY4RIRm5o3


22. The number of unit cells in  of 

is nearly

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

58.5g NaCl

6 × 1020

3 × 1022

1.5 × 1023

0.5 × 1024

https://dl.doubtnut.com/l/_9G8Z6jQAA5uT
https://dl.doubtnut.com/l/_MjyqhuaVwTmq


23. In which of the following crystals, alternate

tetrahedral voids are occupied?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

NaCI

ZnS

CaF2

Na2O

https://dl.doubtnut.com/l/_MjyqhuaVwTmq


24. Radii of  and that of  and  have been

given as 

 pm 


 pm 


 pm 


Thus ratio of volume of AX and AY unit cells is

A. 

B. 

C. 

D. 

A X Y

A = 1.00

X = 1.00

Y = 2.00

17.54

0.057

1.0

0.217

https://dl.doubtnut.com/l/_CPAUurpdGmqD


Answer: b

Watch Video Solution

25. The radius of the  is 95 pm and that

of CI ion is 181 pm Predict the coordination

number of  ?

A. 

B. 

C. 

D. unpredictable

Na+

Na+

4

6

8

https://dl.doubtnut.com/l/_CPAUurpdGmqD
https://dl.doubtnut.com/l/_fuZ87lCNxPyH


Answer: B

Watch Video Solution

26. Experimentally it is was found that a metal

oxide has formula  .Metal  present as

 in its oxide fraction of the metal which

exits as  would be

A. 

B. 

C. 

M0.95O M

M 3 +

M 2 +

89.47 %

4.08 %

6.05 %

https://dl.doubtnut.com/l/_fuZ87lCNxPyH
https://dl.doubtnut.com/l/_GF8X5XBokop8


D. 

Answer: a

Watch Video Solution

5.08 %

27. How many unit cell are present in a cubic-

shaped ideal crystal of  of mass ?

A.  unit cell

B.  unit cell

C.  unit cell

NaCl 1.0g

2.5 × 1021

5.14 × 1021

1.28 × 1021

https://dl.doubtnut.com/l/_GF8X5XBokop8
https://dl.doubtnut.com/l/_pkLuW4YTNwEy


D.  unit cell

Answer: a

Watch Video Solution

1.71 × 1021

28. The radius of  ion is 126 pm and that of 

- ion is 216 pm .The coordination number of

 ion is

A. 

B. 

Ag I

Ag

2

4

https://dl.doubtnut.com/l/_pkLuW4YTNwEy
https://dl.doubtnut.com/l/_HGbqDYvUKYuw


C. 

D. 

Answer: c

Watch Video Solution

6

8

29. The tetrahedral voids formed by cup

arrangement of  ions in rock salt

structure are

A. Occupied by  ions

CI −

Na+

https://dl.doubtnut.com/l/_HGbqDYvUKYuw
https://dl.doubtnut.com/l/_HyErmD01GpGj


B. Occupied by  ions

C. Occupied by either  ions

D. Vacant

Answer: d

Watch Video Solution

CI −

Na + or CI −

30. An element  having

fcc structure, calculate the number of unit

cells in 

X(At, wt = 80g/mol)

8gofX

https://dl.doubtnut.com/l/_HyErmD01GpGj
https://dl.doubtnut.com/l/_9dbhWw6HYflu


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

0.4 × NA

0.1 × NA

4 × NA

NA /40

31. In which of the following  coordination

is found?

8: 8

https://dl.doubtnut.com/l/_9dbhWw6HYflu
https://dl.doubtnut.com/l/_QMLBxnYER0oL


A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

CsCI

MgO

Al2O3

32. For some crystals , the radius ratio for

cation and anion is  its coordination

number will be

0.525

https://dl.doubtnut.com/l/_QMLBxnYER0oL
https://dl.doubtnut.com/l/_s6HfBYguB1FW


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

2

6

4

8

33. In solid oxide are arranged in cup .One -

sixth of tetrabedral voids are occupied by

cation A which one third of octahedral voids

https://dl.doubtnut.com/l/_s6HfBYguB1FW
https://dl.doubtnut.com/l/_S1ckDVD3LRzv


are occupied by cation  .What is the formula

of compound ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

B

AB2O

ABO3

A2B3O

A3B2O

https://dl.doubtnut.com/l/_S1ckDVD3LRzv


34. Which of the following expressions is

correct in the case of a sodium chloride unit

cell (edge length, )?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

a

rc + ra = a/2

rc + ra = a

rc + ra = 2a

rcra = 21 / 2a

https://dl.doubtnut.com/l/_u9677QWzXYIu


35. An element (atomic mass )

having bcc structure has unit cell edge 400

pm .Then density of the element is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

= 100g/mol

10.376g/cm3

2.144g/cm3

7.289g/cm3

5.188g/cm3

https://dl.doubtnut.com/l/_DIAYlzPTMnS7


36.  exists in a rock- salt type unit cell

.Each  ion will be is contact with be in

contact with

A.  ions

B.  ions

C.  ions

D.  ions

Answer: b

Watch Video Solution

MgO

Mg+ 2

4O− 2

6O− 2

8O− 2

2O− 2

https://dl.doubtnut.com/l/_PU2PwsnxReht


37. An  type structure is found in

A. NaCI`

B. CaF_(2)`

C. 

D. 

Answer: b

Watch Video Solution

AB2

Al2O3

N2O

https://dl.doubtnut.com/l/_wz0dwDerQNTK


38. Cesium chloried on heating to 

changes in

A. 

B. structure

C. antifloorite structure

D.  structure

Answer: B

Watch Video Solution

760K

CsCl(g)

NaCl

ZnS

https://dl.doubtnut.com/l/_565cBKkosEkI
https://dl.doubtnut.com/l/_G3MCqgJDDBc2


39. The figure below shown a unit cell of the

mineral perovskite (the titanium atom is at the

centre of the cube), What of the following is a

correct chemical formula for this mineral?

A. Ca8TiO6

https://dl.doubtnut.com/l/_G3MCqgJDDBc2


B. 

C. 

D. 

Answer: d

Watch Video Solution

CaTiO

Ca2TiO3

CaTiO3

40. The ionic radii of

 .The most

probable type of structure exhibited by it is

Rb+ and I −are1.46 and 2.16Å

https://dl.doubtnut.com/l/_G3MCqgJDDBc2
https://dl.doubtnut.com/l/_4E4BQcWydhKa


A. type

B.  type

C.  type

D.  type

Answer: B

Watch Video Solution

CaCl

NaCl

ZnS

CaF2

41. A group  A element with a density of 

 crystallises in a face centered

IV

11.35g/cm3

https://dl.doubtnut.com/l/_4E4BQcWydhKa
https://dl.doubtnut.com/l/_NJnoJiteb2ly


cubic lattice whose unit cell edge length is

 .Calculate its atomic mass

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

4.95Å

207.2g/mol

180g/mol

109.9g/mol

280.8g/mol

https://dl.doubtnut.com/l/_NJnoJiteb2ly


42. Select the incorrect statement for 

crystal

A. Co-ordination no for  is 

B. 

C. The structure changes to  at 

D.  ions are present at cubic sides

Answer: a

Watch Video Solution

CsCI

Cs+ and CI −

6

= 0.732
r+
Cs

r−
CI

NaCI 760K

CI −

https://dl.doubtnut.com/l/_CzIpLMqt07FQ


43. For cubic - coordination the value of ratio

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.14 − 0.732

0.225 − 0.414

0.000 − 0.225

0.732 − 1.000

https://dl.doubtnut.com/l/_CzIpLMqt07FQ
https://dl.doubtnut.com/l/_GOBqh3O4uRv8


44. For unit cell of a  lattice

A. is body contred cube

B. has  ions

C. is electrically charged

D. has  unit

Answer: d

Watch Video Solution

NaCI

3Na+

4NaCI

https://dl.doubtnut.com/l/_axl80u9j1cIw


45. How many molecules are there in the unit

cell of sodium chioride?

Watch Video Solution

46. The number of atoms in  of an fcc

crystal with density  and cell

edge equal to  is equal to

A. 

B. 

100g

= 10.0gcm− 3

200 ±

3 × 1025

5 × 1024

https://dl.doubtnut.com/l/_K66DZH6OlV71
https://dl.doubtnut.com/l/_lUoMJo4aZjod


C. 

D. 

Answer: b

Watch Video Solution

1 × 1025

5.96 × 10− 3

47. Structure of  is

A. `Body centred cubic

B. Simple cube

C. Face centred cubic

ZnS

https://dl.doubtnut.com/l/_lUoMJo4aZjod
https://dl.doubtnut.com/l/_pNtw4cQBqWZS


D. Floorite structure

Answer: C

Watch Video Solution

48. The intermetallic compound 

crystallizes in cubic lattice in which both

lithium and silver have coordination number

of . The crystal class is

A. Simple cube

LiAg

8

https://dl.doubtnut.com/l/_pNtw4cQBqWZS
https://dl.doubtnut.com/l/_ykaUn9p3ZCKm


B. Face centred cubic

C. Body centred cube

D. None of these

Answer: c

Watch Video Solution

49. For an ionic crystan of the type  , the

value of (limiting) earius ratio is  .The

value suggest that the crystan struture should

be

AB

0.40

https://dl.doubtnut.com/l/_ykaUn9p3ZCKm
https://dl.doubtnut.com/l/_dxtmslDVm9Dc


A. Octahedral

B. Terahedral

C. Squre planer

D. Plane triangle triangle

Answer: b

Watch Video Solution

50. Potassium has a bcc structure with nearest

neighour distance its atomic weight is 

 its density (in kg ) will be

4.52Å

39 m− 3

https://dl.doubtnut.com/l/_dxtmslDVm9Dc
https://dl.doubtnut.com/l/_wFrvEnlRAaG5


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

454

804

852

908

51. In Which of the following substances the

carbon atom is arranged in a regular

tetrahedral struture?

https://dl.doubtnut.com/l/_wFrvEnlRAaG5
https://dl.doubtnut.com/l/_kp3keyEuF4NB


A. Diamond

B. Benzene

C. Graphite

D. Carbon black

Answer: a

Watch Video Solution

52. If the value of ionic radius ratio  is 

 in an ionic compound , the geometrical of

( )
rc

ra

0.52

https://dl.doubtnut.com/l/_kp3keyEuF4NB
https://dl.doubtnut.com/l/_XR3U3SUMUt4B


ions in crystal is

A. Tetrahedral

B. Planar

C. Octahedral

D. Pyramidal

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XR3U3SUMUt4B


53. In the closest packed struture of a metallic

lattice , the number of mearest neighhours of

a metallic atom is

A. Six

B. Four

C. Eight

D. Twelve

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_w6HqlxFtoLN4


54. If the ratio is in the range of 

, then the coordination number will be

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

0.414 − 0.732

2

6

4

8

https://dl.doubtnut.com/l/_NYWtssbIN13K
https://dl.doubtnut.com/l/_bvlkPcsZAT6U


55. The formula for determination of density

of unit cell is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

gcm− 3a3 × N0

N × M

gcm− 3a3 × M

N × N0

gcm− 3N × M

a3 × N0

gcm− 3M × N

a3 × N

https://dl.doubtnut.com/l/_bvlkPcsZAT6U


56. In the distance between  and 

ions in sodium chliride crystal is X pm , the

length of the edge of the unit cell is

A. 4X pm

B.  pm

C.  pm

D. 2X pm

Answer: d

Watch Video Solution

Na+ CI −

X/4

X/2

https://dl.doubtnut.com/l/_iujs6OuZalGd


57. An elementoccurring in the bcc structure

has  unit cells .The total number

of atoms of the element in these cells will be

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

12.08 × 1023

12.08 × 1023

36.18 × 1023

6.04 × 1023

24.16 × 1023

https://dl.doubtnut.com/l/_C9wHyZ2IdUAe


58. In  ionic compound radii of 

 ions are  and 

respectively .The crystal structure of this

compound will be

A.  type

B.  type

C.  type

D. Similar to diamond

Answer: b

View Text Solution

A=B−

A= and B− 180 ± 187 ±

NaCI

CaCI

ZnS

https://dl.doubtnut.com/l/_cBPIQmgjNV89


59. An example of a non- stoichiometric

compound is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

Al2O3

NiO2

Fe3O4

PbO

https://dl.doubtnut.com/l/_cBPIQmgjNV89
https://dl.doubtnut.com/l/_hw0TAUOGxQVN


60. For an ionic crystal of the formula  and

cooradition number , the value of radius ratio

will be

A. greater than 

B. In between 

C. in between 

D. Less than 

Answer: c

Watch Video Solution

AX

6

0.73

0.41 and 0.22

0.73 and 0.41

0.22

https://dl.doubtnut.com/l/_hw0TAUOGxQVN
https://dl.doubtnut.com/l/_6jAUzqnl8rv6


61. In orthorhombic , the value of a, b and c are

respectively  .Given the

molecular mass of the solur is 

and that of density is  the number of

formula unit per unit cell is

A. 

B. 

C. 

D. 

4.2Å, 8.6Å and 8.3Å

155gmmol− 1

3.3gm/

2

3

4

6

https://dl.doubtnut.com/l/_6jAUzqnl8rv6
https://dl.doubtnut.com/l/_a4Vyc5vDyESP


Answer: C

Watch Video Solution

62. In a solid  having the  structure, A

atom occupies the corners of the cubic unit

cell. If all the face-centred atoms along one of

the axes are removed, then the resultant

stoichiometry of the solid is

A. 

B. 

AB NaCl

AB2

A2B

https://dl.doubtnut.com/l/_a4Vyc5vDyESP
https://dl.doubtnut.com/l/_2JL4HDnKLP5j


C. 

D. 

Answer: a

Watch Video Solution

A4B2

A2B4

63. femous oxide has cubes structure and each

edgeof the unit cell is  .Assuming of the

oxide as  then the number of 

 inos present in each unit cell

will be

5.0Å

4.0g/cm3

Fe2 + and O2

https://dl.doubtnut.com/l/_2JL4HDnKLP5j
https://dl.doubtnut.com/l/_ge08KrEjdBKN


A. 

B. 

C. 

D. 

Answer: c

View Text Solution

FourFe2 + and twoO2 −

TwoFe2 + and fourO2 −

FourFe2 + and FourO2 −

ThreeFe2 + and threeO2 −

64. In the time blende structure 

adopts ccp arrangement and  occupies

(ZnS), S2 −

Zn2 +

https://dl.doubtnut.com/l/_ge08KrEjdBKN
https://dl.doubtnut.com/l/_fdAtMu21YVp3


A. Octahedral sites

B. Hexagonal sites

C. Teragonal sites

D. Both octahedral sites

Answer: C

Watch Video Solution

65. A metal crystallizes in two cubic phases,

face-centred cubic and body-centred cubic,

which have unit cell lengths  and ,3.5Å 3.0Å

https://dl.doubtnut.com/l/_fdAtMu21YVp3
https://dl.doubtnut.com/l/_Lph2VYyS1Ki9


respectively. Calculate the ratio of densities of

fcc and bcc.

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

2.123

1.259

5.124

3.134

https://dl.doubtnut.com/l/_Lph2VYyS1Ki9


66.  adopts a rock - salt structure , The

coordination number of the  ion is

A. Two

B. Four

C. Twelve

D. Six

Answer: d

Watch Video Solution

NiO

Ni2 +

https://dl.doubtnut.com/l/_HqZppTK08RSD
https://dl.doubtnut.com/l/_vbOlFjWH8XP8


67. The coordination number of a metal

crystallizing in a hexagonal close-packed

structure is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4

6

8

12

https://dl.doubtnut.com/l/_vbOlFjWH8XP8
https://dl.doubtnut.com/l/_vpGJumNwwrVO


68. Lithium selenide can be described as a

closest- packed array of selenide ion with

lithium ions in all of the tertraleddral holes

.Formula of lithium selenide is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

Li2Se

LiSe

LiSe2

Li2Se

https://dl.doubtnut.com/l/_vpGJumNwwrVO


69. In the crystal of  , the mearest

neighhours of each  ion are

A. Six chloried ions

B. Six  ions

C. Eight chloride ions

D. Eight  ions

Answer: c

Watch Video Solution

CaCI

Cs

Cs

Cs

https://dl.doubtnut.com/l/_vpGJumNwwrVO
https://dl.doubtnut.com/l/_Z344YR3yCh2L


70. Space lattice of  is

A. Face centred cubic

B. Body centred cubic

C. Simple cubic

D. Hexagonal closed packing

Answer: a

Watch Video Solution

CaF2

https://dl.doubtnut.com/l/_Ieaxv01YQCY9


71. How many chloride ions are there around

sodium ion in sodium chloride crystal?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

6

8

4

3

https://dl.doubtnut.com/l/_CYKaQjrYSzIz
https://dl.doubtnut.com/l/_PH1Yf10vswI2


72. A binary solid  has a rock sell

structure .If the edge length is  and

radius of cation is 75 pm the radius of amion

attion is

A. 100 pm

B. 125 pm

C. 250 pm

D. 325 pm

Answer: b

Watch Video Solution

(A+B+ )

400 ±

https://dl.doubtnut.com/l/_PH1Yf10vswI2


Defects In Solids And Semiconductors

1. What fraction of the surface of a crystal of

 consists of vacancies? 


 Energy

needed in form a vacancy is appoximately 60%

of 

A. 

B. 

C. 

CdatT = 298K

ΔsubH
∘ (Cd) = 113.02kJmol− 1

ΔsubH
0

1.50 × 1016

6.02 × 10− 23

6.02 × 1022

https://dl.doubtnut.com/l/_PH1Yf10vswI2
https://dl.doubtnut.com/l/_QnpUydgoMUnL


D. 

Answer: d

Watch Video Solution

1.30 × 10− 12

2. The corrent statement regarding defects is

solids in solids is

A. Frenkel defect is favoured by a very small

difference in the size of cation and anion

B. Frenkel defect is not a defination defect

https://dl.doubtnut.com/l/_QnpUydgoMUnL
https://dl.doubtnut.com/l/_hFzp2iCRzqlw


C. Trapping of  in lattice leads in the

formation of F - center

D. Schtiky defect have no effective on the

physical properties of solid

Answer: C

Watch Video Solution

r−

3. In  crystal , the ion size lies in the

order  The  crystal

should have the following characheristics

AgBr

Ag+ < < Br− AgHt

https://dl.doubtnut.com/l/_hFzp2iCRzqlw
https://dl.doubtnut.com/l/_bYalDPec10Wt


A. Defectless (perfect) crystal

B. Schottky defect only

C. frenkel defect only

D. Both schotky and frenkel defects

Answer: c

Watch Video Solution

4. Frenkel defect is caused due to

https://dl.doubtnut.com/l/_bYalDPec10Wt
https://dl.doubtnut.com/l/_sgZPJQUGYvBI


A. An missing from the normal lattice site

creating a vacancy

B. An extra positive ion occupying an

intersirttile position in the lattice

C. An extra negative ion occupying an

intersirttile posittion in the lattice

D. The shift of a positive ion from its

normal lattice site to an interstitial site

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_sgZPJQUGYvBI


5. How many energy levels are prent in 

conduction hand of a single crystal of sodium

weighing ?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

3s

25.6mg

7.01 × 1020

7.01 × 1023

6.02 × 1023

6.68 × 1020

https://dl.doubtnut.com/l/_sgZPJQUGYvBI
https://dl.doubtnut.com/l/_kiK2iBjkyCml


6. Which defect cause decrease in the density

of crystal?

A. Frenkle

B. Interstitial

C. schottky

D. F-centre

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kiK2iBjkyCml
https://dl.doubtnut.com/l/_m5EsGUY5MuXM


7. To get -type doped semiconductor,

impurity to be added to silicon should have

the following number of valence electrons

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

n

1

2

3

5

https://dl.doubtnut.com/l/_m5EsGUY5MuXM
https://dl.doubtnut.com/l/_SlrB8Mea7pvJ


8. The flame colours of metal ions are due to

A. Metal excess defect

B. Schottky defect

C. Metal deficiency defect

D. Frenkel defect

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SlrB8Mea7pvJ
https://dl.doubtnut.com/l/_0vwLKv9oOm83
https://dl.doubtnut.com/l/_G5FZjM4yVNs9


9. Schottky defect in crystal is when

A. Density of crystal is increase

B. Unequal number of cations and anions

are missing from the lattice

C. An ion leavel its normal site and

occupies an interstitial site

D. Equal number of cations and anion are

missing from the lattice

Answer: D

https://dl.doubtnut.com/l/_G5FZjM4yVNs9


Watch Video Solution

10. When electron are trapped into the crystal

in anion cancy ,the defect is known as

A. F-centres

B. Frenkel defect

C. Stochimetric defect

D. Schottky defect

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_G5FZjM4yVNs9
https://dl.doubtnut.com/l/_9WcrmjPvgFvH


11. In which of the following oxides conducting

or insulting property of oxide is dependent on

temperature?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

SiO2

TiO

MgO

Ti2O3

https://dl.doubtnut.com/l/_9WcrmjPvgFvH
https://dl.doubtnut.com/l/_NDTR9IrboAwd


12. The correct statement in the following is

A. The ionic crystal of  has schottky

defect

B. The unit cell having crystal parameters,

 is

hexagonal

C. In ions compound having frenkel defect

the ratio  is high

AgBr

a = b ≠ c, α = β = 90∘ , γ = 120∘

γ+

γ−

https://dl.doubtnut.com/l/_NDTR9IrboAwd
https://dl.doubtnut.com/l/_IgmdbhUIRGmn


D. The coordination number of  ion in 

 is 

Answer: b

Watch Video Solution

Na+

NaCI 4

13. The pyknometric density of  crystal is 

 while its -ray density is 

. The fraction of

unoccupied sites in  crystal is 


NaCl

2.165 × 103kgm− 3
X

2.178 × 10− 3kgm− 3

NaCl

https://dl.doubtnut.com/l/_IgmdbhUIRGmn
https://dl.doubtnut.com/l/_aMU4mzGJMYdf


a.  b.  


c.  d. 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

5.96 5.96 × 10− 2

5.96 × 10− 1 5.96 × 10− 3

5.96 × 10− 1

5.96

5.96 × 10− 2

5.96 × 10− 3

https://dl.doubtnut.com/l/_aMU4mzGJMYdf


14. For silicon , given




Wavelength of light that excite an electron

https://dl.doubtnut.com/l/_5eIAAHPUSxNI


from the valence to the condiction band in

silicon is

A. 

B. 

C. 1022 pm

D. 872 pm

Answer: b

Watch Video Solution

1022nm

1039nm

https://dl.doubtnut.com/l/_5eIAAHPUSxNI


15. What type of crystal defect is indicated in

the diagram given below 

A. Frenkle defect

B. Schottky defect

C. Interstitial defect

D. Frenkle defect and Schottky defect

Answer: B

h id l i

Na+ Cl− Na+ Cl− Na+ Cl−

Cl−
□ Cl− Na+

□ Cl−

Na+ Cl−
□ Cl− Na+ Cl−

Cl− Na+ Cl− Na+
□ Na+

https://dl.doubtnut.com/l/_3Bt3HUAdHuSn


Watch Video Solution

16. In the laboratory , sodium choride is made

by burning the sodium in the atmosphere of

cholrine which is yellow in colour .The cause of

yellow colour is

A. Presence of  ions in the crystal

lattice

B. Presence of  ions in the crystal

lattice

C. Presence of electron in the crystal lattice

Na+

Cl−

https://dl.doubtnut.com/l/_3Bt3HUAdHuSn
https://dl.doubtnut.com/l/_3LQwrji46CHc


D. Presence of face centered cubic crystal

lattice

Answer: c

Watch Video Solution

17. If  is droped with  mole of 

 then number of cationic vacancies is

A. 

B. 

NaCI 10− 3

SrCI2

6.02 × 10− 18mol− 1

10− 5mol− 1

https://dl.doubtnut.com/l/_3LQwrji46CHc
https://dl.doubtnut.com/l/_1tXUwd3NpEMq


C. 

D. 

Answer: D

Watch Video Solution

6.02 × 1020mol− 1

6.02 × 1018mol− 1

18. The following is not a function an impurity

present in a crystal

A. Contributing to scattering

B. Having tendency to diffuse

https://dl.doubtnut.com/l/_1tXUwd3NpEMq
https://dl.doubtnut.com/l/_cB0eXyCXyLSp


C. Estabishing thermal equilibrium

D. Interoducing new electronic energy

levels

Answer: c

Watch Video Solution

19. The corrent statement regarding F-centre

is

A. Electron are held in the viods of crystals

https://dl.doubtnut.com/l/_cB0eXyCXyLSp
https://dl.doubtnut.com/l/_4b1Wz5KqBKG5


B. F-centre produces colour to the crystal

C. Conductivity of the crystal increases due

to F- centre

D. All

Answer: D

Watch Video Solution

20. If a non-metal is added to the interstitial

sites of a metal, then the metal becomes

https://dl.doubtnut.com/l/_4b1Wz5KqBKG5
https://dl.doubtnut.com/l/_0NiBeGaiJg0w


A. More ductile

B. Less tensile

C. Less malleable

D. Softer

Answer: B

Watch Video Solution

21.  shown Schottky defect and 

frenkel defect .Their elelctrical conductivity is

due to

NaCI AgCI

https://dl.doubtnut.com/l/_0NiBeGaiJg0w
https://dl.doubtnut.com/l/_daDalO42ADO2


A. motion of ions and not the motion of

electrons

B. motion of electrons and not the motion

of electrons

C. lower coordination number of 

D. higher coordination number of 

Answer: A

Watch Video Solution

NaCI

AgCI

https://dl.doubtnut.com/l/_daDalO42ADO2


Section B Assertion Reasoning

1. Assertion: In frekel defect in an ionic crystal,

an ion is dispalced from its normal site to an

interstitial site.

Reason: There is both a vacancy and an

intersitial ion.

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_MHfhPxUZ5tz3


B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_MHfhPxUZ5tz3


2. Assertion:If the length of the unit cell of

 having  structure is , the

ionic radius of  ion is 


Rason : Anion- anion contact is retaned in

 structure because anion constitute the

lattice

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

LICI NaCI 5.14Å

CI − .82Å

LiCI

https://dl.doubtnut.com/l/_nxJ93jT8E3Lm


B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_nxJ93jT8E3Lm


3. Assertion :The close packing of atoms in

cubic structure is in the order  


Reason: Packing density

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

f > b > sc

=
Volume of unit cell

a3

https://dl.doubtnut.com/l/_oflauz3duGZU


C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

4. Assertion : In point defect density of solid

maydecrease and increase

Reason : Formation is called non-

stoichiometric defect

Fe0.93O

https://dl.doubtnut.com/l/_oflauz3duGZU
https://dl.doubtnut.com/l/_FedYTJzUgZlp


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_FedYTJzUgZlp


5. Assertion : In hexagonal close packing

vaccant space are between three touching

spheres whose centes lie at the coeners of an

equilateral traingle 

Reason :In hexagonal close packing voids are

called voids are called square voids

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_FedYTJzUgZlp
https://dl.doubtnut.com/l/_rGl514Gfhw7p


B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_rGl514Gfhw7p


6. Assertion : Antiferromagnetic on heating to

high temperature become paramegnetic 

Reason : On heating randomisation of wspains

occure

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

https://dl.doubtnut.com/l/_tIMIjgcYALQD


C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

7. Assertion : Stoichimetric compounds obey

the law of constact composition

Reason: Schottky and frenkel defect are

observed in Stoichimetric compounds

https://dl.doubtnut.com/l/_tIMIjgcYALQD
https://dl.doubtnut.com/l/_ehuBweR3qkjo


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_ehuBweR3qkjo


8. Assertion :Bragg's equation has no solution,

if  


Reason : Bragg's equation is 

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

n = 2 and λ > d

nλ = 2d sin θ

https://dl.doubtnut.com/l/_ehuBweR3qkjo
https://dl.doubtnut.com/l/_ukSjeq4QLViH


C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

9. Assertion :  adopes structure similar

to that of  but positions and negative

ions are reversed 

Reason : The structure of  is also called

spinal structure

Na2O

CaF2

Na2O

https://dl.doubtnut.com/l/_ukSjeq4QLViH
https://dl.doubtnut.com/l/_5FLwTADmHtyc


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_5FLwTADmHtyc


10. Assertion : Solids having more F-centre

possess intense colour

Reason: Excess of  in  solid having

F-centers makes it appear pink

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

Na+ NaCI

https://dl.doubtnut.com/l/_5FLwTADmHtyc
https://dl.doubtnut.com/l/_EnydaucLpgFt


the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

11. Assertion (A) : Triclinic systeam is the most

unsymmetrical systeam. 

Reason (R ) : No axial angle is equal to  in

triclinic systeam.

90∘

https://dl.doubtnut.com/l/_EnydaucLpgFt
https://dl.doubtnut.com/l/_mowqHEpaxe1z


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_mowqHEpaxe1z


12. Assertion (A) : Frenkel defects are shown by

. 


Reason (R ) :  ions have small size.

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

AgX

Ag⊕

https://dl.doubtnut.com/l/_mowqHEpaxe1z
https://dl.doubtnut.com/l/_X59LiTRWK1Ho


C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

13. Assertion : In  crystal, frenkel defect

can be observed 

Reason:  is a small sized cation

AgCI

Ag+

https://dl.doubtnut.com/l/_X59LiTRWK1Ho
https://dl.doubtnut.com/l/_MiJciY9m0Tiv


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_MiJciY9m0Tiv


14. Assertion : A crystal having  structure is

more closely packed then a crystal having 

structure 

Reason: packing fraction for  structure id

double than that of structure

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

f

b

f

b

https://dl.doubtnut.com/l/_MiJciY9m0Tiv
https://dl.doubtnut.com/l/_ZJOILEAaxIav


B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_ZJOILEAaxIav


15. Assertion :  becomes yellow when it is

beated 

Reason:  becomes yellow when heater in

the presence of Na vapours due to anion

vacancy

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

ZnO

NaCI

https://dl.doubtnut.com/l/_73W0NZmkj13e


the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: b

Watch Video Solution

16. Assertion (A) : Covalent crystals have higher

melting point. 

Reason (R ) : Covalent bonds are stronger than

ionic bonds.

https://dl.doubtnut.com/l/_73W0NZmkj13e
https://dl.doubtnut.com/l/_tBEz6iGx74y0


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_tBEz6iGx74y0


17. Assertion :  has body - centred cunic

arrangement

Reason:  has one and ion is its

unit cell

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

CsCI

CsCI 8CI −

https://dl.doubtnut.com/l/_tBEz6iGx74y0
https://dl.doubtnut.com/l/_Ni2xKjlCO9dq


the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

18. Assertion :In crystal each  ion is

tourching  ion but these  ion do

not touch each other 

NaCI Na+

6CI − CI −

https://dl.doubtnut.com/l/_Ni2xKjlCO9dq
https://dl.doubtnut.com/l/_HdwJcHyMkSdb


Reason:The radius ratio is greater than 

required forexact fitting

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

0.414

https://dl.doubtnut.com/l/_HdwJcHyMkSdb


Answer: a

Watch Video Solution

19. Assertion (A) : In the rock salt type

structure, all the  are occupied by 

ions. 

Reason (R ) : Number of  Number of 

 ions in the packing.

A. If both assertion and reason are true

and the reason is the correct

OVs Na⊕

OVs =

Clɵ

https://dl.doubtnut.com/l/_HdwJcHyMkSdb
https://dl.doubtnut.com/l/_9agjyTMqcWt8


explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_9agjyTMqcWt8


20. Assertion : An important feature of fluorite

structure is that cations being large ib size

occupy  lattice points, the formula unit 

 (A cation, B anion)


Reason: There are  cations and  anions per

 unit cell of the flucrite structure

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

FCC

AB2

6 12

FCC

https://dl.doubtnut.com/l/_haaXeXXWrjzj


B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_haaXeXXWrjzj


21. Assertion : The octahedral viods have

double the size of the tetrabedral voids in a

crystal 

Reason: The number of tetrahedral voids is

double the number of octabehedral voids is a

crystal

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_LaE93Kx7AHsw


Aipmt Neet Questions

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_LaE93Kx7AHsw
https://dl.doubtnut.com/l/_29e8OcaQNJwm


1. When molten zine is cooled to solid state it

assumes hcp structure .Then the number of

nearrest neighbours of zine atom will be

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

4

6

8

12

https://dl.doubtnut.com/l/_29e8OcaQNJwm
https://dl.doubtnut.com/l/_OlDDgfbl5orF


2. The pyknometric density of  crystal is 

 while its -ray density is 

. The fraction of

unoccupied sites in  crystal is 


a.  b.  


c.  d. 

A. 

B. 

C. 

D. 

NaCl

2.165 × 103kgm− 3
X

2.178 × 10− 3kgm− 3

NaCl

5.96 5.96 × 10− 2

5.96 × 10− 1 5.96 × 10− 3

5.99

5.96 × 10− 2

5.96 × 10− 1

5.96 × 10− 3

https://dl.doubtnut.com/l/_OlDDgfbl5orF


Answer: d

Watch Video Solution

3. With which one of the following element

silicon should be depend so as to give p- type

semiconductor?

A. As

B. Se

C. B

D. Ge

https://dl.doubtnut.com/l/_OlDDgfbl5orF
https://dl.doubtnut.com/l/_NvvpC7Yz3KZJ


Answer: c

Watch Video Solution

4.  crystallises in a body  centred

cubic lattice. The unit cell length is .

Given that  the atomic mass of 

and that of  and Avogadro's

number being , the density

of  is 

A. 

CsBr −

436.6pm

: Cs = 133

Br = 80amu

6.02 × 1023mol− 1

CsBr :

8.25g/cm3

https://dl.doubtnut.com/l/_NvvpC7Yz3KZJ
https://dl.doubtnut.com/l/_jG165esvrksR


B. 

C. 

D. 

Answer: b

Watch Video Solution

4.25g/cm3

42.5g/cm3

0.425g/cm3

5. Which of the following statement is not

correct?

A. Molecular solids are generally volatile

https://dl.doubtnut.com/l/_jG165esvrksR
https://dl.doubtnut.com/l/_VAsGY2fwuE29


B. The number of carbon atoms in a unit

cell of diamond is 

C. The number o Bravais lattice im which qa

crystal can be categorized is 

D. The fraction of the total volume

occuopied by the atomic in a primitive

cell is 

Answer: b

Watch Video Solution

4

14

0.48

https://dl.doubtnut.com/l/_VAsGY2fwuE29
https://dl.doubtnut.com/l/_p0kvs92pkk2O


6. If  is droped with 

 then number of

cationic vacancies will be

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

NaCI

10− 4mole % ofSrCI2

6.02 × 1016mol− 1

6.02 × 1017mol− 1

6.02 × 1014mol− 1

6.02 × 1015mol− 1

https://dl.doubtnut.com/l/_p0kvs92pkk2O


7. The fraction of total volume occupied by

atoms in a simple cube is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

π

3√2

π

4√2

π

4

π

6

https://dl.doubtnut.com/l/_eQewhU2IHZWp
https://dl.doubtnut.com/l/_WQRLzQBViAPc


8. If  stands for the edge length of the cubic

system  simple cubic, body  centred cubic

anf face  centred cubic, then the ratio of

radii of the spheres in these systems will be

respectively

A. 

B. 

C. 

D. 

Answer: d

a

: −

−

:

a : √3a :
1

2

1

√2a

a : a : a
1

2

√3

a

√2

2

a : √3a : √2a
1

2

a : a : a
1

2

√2

4

1

2√2

https://dl.doubtnut.com/l/_WQRLzQBViAPc


Watch Video Solution

9. Percentage of free space in cubic in a body-

centred cubic unit cell is .

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

32 %

34 %

28 %

30 %

https://dl.doubtnut.com/l/_WQRLzQBViAPc
https://dl.doubtnut.com/l/_x7OzBq55ePP5


10. Lithium crystallizes in a body - centred

cubic crystal .If the length of the unit cell if

lithium is pm , the atomic radius of the

lithium will be

A.  pm

B.  pm

C.  pm

D.  pm

Answer: c

315

300.5

240.8

151.8

75.5

https://dl.doubtnut.com/l/_x7OzBq55ePP5
https://dl.doubtnut.com/l/_Fjl0oHQLEkSu


View Text Solution

11.  crystallises in a bcc lattice with edge

length  equal to  pm`.The distance

between two oppositely chariged ions in the

lattice is

A.  pm

B.  pm

C.  pm

D.  pm

AB

qa 387

335

250

200

300

https://dl.doubtnut.com/l/_Fjl0oHQLEkSu
https://dl.doubtnut.com/l/_ey4EzlOBMWU3


Answer: a

Watch Video Solution

12. The number of octabedral voids  per

atoms present in a cubic packed structure is

A. 

B. 

C. 

D. 

(s)

2

4

1

3

https://dl.doubtnut.com/l/_ey4EzlOBMWU3
https://dl.doubtnut.com/l/_A0ZYmH4OkJDV


Answer: c

Watch Video Solution

13. A metal crystallizes with a face -centred

cubic lattice.The edge of the unit cells is 

pm.The dimeter of the metal atoms is

A.  pm

B.  pm

C.  pm

D.  pm

408

144

204

288

408

https://dl.doubtnut.com/l/_A0ZYmH4OkJDV
https://dl.doubtnut.com/l/_gN1IEIt5U2Rk


Answer: c

Watch Video Solution

14. Structure of a mixed oxide is cubic closed -

packed (ccp) .The cubic unit cell of mixed oxide

is composed of oxide ions .One fourth of the

tetrahedral voids are occupied by divalent

metal A and the octahedral voids are occupied

by a monovelent metal B .The formula of the

oxide is

https://dl.doubtnut.com/l/_gN1IEIt5U2Rk
https://dl.doubtnut.com/l/_Fqbi02OAHTNz


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

ABO2

A2BO2

A2B3O4

AB2O2

15. A metal has a fcc lattice.The edge length of

the unit cell is  pm ,the density of the

metal is  . The molar mass of the

404

2.72gcm− 3

https://dl.doubtnut.com/l/_Fqbi02OAHTNz
https://dl.doubtnut.com/l/_TujrWsxsc7TO


metal is , Avorgadro's constant 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

(NA

= 6.02 × 1023mol− 1)

30gmol− 1

27gmol− 1

20gmol− 1

40gmol− 1

https://dl.doubtnut.com/l/_TujrWsxsc7TO


16. The number of carbon atoms per unit cell

of diamond unit cell is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

8

6

1

4

https://dl.doubtnut.com/l/_DxBiDYNOh4Z0
https://dl.doubtnut.com/l/_4s5Px3EFzqWp


17. If  is the length of the side a cubic unit cell

the distance between the body -centred atoms

and one correct atoms in the cube will be

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

a

a
2

√3

a
√3

2

a
4

√3

a
√3

4

https://dl.doubtnut.com/l/_4s5Px3EFzqWp
https://dl.doubtnut.com/l/_jPtBcDXRUl50


18. A given metal crystallises out with a cubic

structure having edge length of  .If

there are metal atoms in one cell, what is the

radius of one atoms?

A.  pm

B.  pm

C.  pm

D.  pm

Answer: d

Watch Video Solution

361pm

80

108

40

127

https://dl.doubtnut.com/l/_jPtBcDXRUl50


19. The vacant space in bcc lattice unit cell is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

23 %

32 %

26 %

48 %

https://dl.doubtnut.com/l/_jPtBcDXRUl50
https://dl.doubtnut.com/l/_wtIqNjtZt1nl
https://dl.doubtnut.com/l/_8anVryjYn1qE


20. Lithium metal has a body centred cubic

structure. Its density is  and its

molar mass is . Calculate the edge

length of a unit cell of Lithium metal

A.  pm

B.  pm

C.  pm

D.  pm

Answer: d

Watch Video Solution

0.53gcm− 3

6.94gmol− 1

264

154

352

527

https://dl.doubtnut.com/l/_8anVryjYn1qE


21. The ionic radii of  ions are 

 .The

coordinatyion number of each ion in  is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

A+ and B−

0.98 × 10− 10 and 1.81 × 10− 10m

AB

2

6

4

8

https://dl.doubtnut.com/l/_8anVryjYn1qE
https://dl.doubtnut.com/l/_uisnDlBNwCvY


22. Which is the incorrect statement?

A. Density decreases in case of crystals with

Schottky 's defect

B.  is insulator , sillicon is

semiconductor , silver is condictor

quarte is piezo electric crystal

C. Frenkel defect as favoured in those ionic

compounds in which sizes if cation and

NaCI(s)

https://dl.doubtnut.com/l/_uisnDlBNwCvY
https://dl.doubtnut.com/l/_kW1nXKto4r54


anions are almost equal

D.  has non strichiometric metal

deficiency defect

Answer: c

Watch Video Solution

FeO0.98

23. Iron exhibits bcc structure at room

temperatutre .Above  .it transitions to

fcc structure .The ratio of density of ions at

room temperature to that at (assuming

900∘C

900∘C

https://dl.doubtnut.com/l/_kW1nXKto4r54
https://dl.doubtnut.com/l/_MGkWNRlOWfp8


molar mass and atomic , radii of ion remain s

constant with temperature ) is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

√3

√2

4√3

3(√2)

3√3

4(√2)

1

2

https://dl.doubtnut.com/l/_MGkWNRlOWfp8


Aiims Questions

1. The three states of matter are solid, liquid

and gas .Which of the following statement

is/are about them?

A. Gases and liquid have viscosity as a

common property

B. The molecules in all the three states

posses random transtational motion

https://dl.doubtnut.com/l/_SvkQm0YAwsEZ


C. Gases cannot be converted into solids

without passing through the liquid

phase

D. Solids and liquid have vapour presure as

a common property

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_SvkQm0YAwsEZ


2. Which of the following is a ferroelectric

compound?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

BaTiO3

K6[Fe(CN)6]

Pb2O3

PbZrO3

https://dl.doubtnut.com/l/_wVIpa8Hzn0QD
https://dl.doubtnut.com/l/_ifnjVrnjk6Sp


3. The solid  is a bad conductoe of

electricty since

A. in solid  there are no ions

B. solid  is covalent

C. in solid  there is no velocity of

ions

D. in solid  there are no electrons

Answer: c

Watch Video Solution

NaCI

NaCI

NaCI

NaCI

NaCI

https://dl.doubtnut.com/l/_ifnjVrnjk6Sp
https://dl.doubtnut.com/l/_EVPQKlVrqxjg


4. In graphics carbon atoms are joined

togather due to

A. ionic bonding

B. van der waals forces

C. metallic bonding

D. covalent bonding

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_EVPQKlVrqxjg
https://dl.doubtnut.com/l/_YcD3Rd9qQWXe


5. Example of unit cell with crystallographic

dimension is

A. calcite

B. graphite

C. rhombic sulphur

D. monoclinic sulphur

Answer: d

Watch Video Solution

a ≠ b ≠ c, α = γ = 90∘

https://dl.doubtnut.com/l/_YcD3Rd9qQWXe


6. If  is the number of atoms in the unit cell

that represent the closed packing sequence

 the number of

terrahedral in the unit cell is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Z

− − − ABCAB − − −

Z

2Z

Z/2

Z/4

https://dl.doubtnut.com/l/_qFDTsDnNw0Xk


Watch Video Solution

7. An  type structure is found in

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

AB2

NaCI

Al2O3

CaF2

N2O

https://dl.doubtnut.com/l/_qFDTsDnNw0Xk
https://dl.doubtnut.com/l/_gPJ44Klb2in4
https://dl.doubtnut.com/l/_KInntMx8DVxj


8. An example of a body cube is

A. sodium

B. magnesium

C. zinc

D. copper

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_KInntMx8DVxj


9. In a face centered cubic cell , an the face

contributes in the unit cell

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

1/4part

1/8part

1part

1/2part

https://dl.doubtnut.com/l/_B1AMrH7gl7YW
https://dl.doubtnut.com/l/_KX78ZGZemWXr


10. Sodium metal crystallises in body centred

cubic lattic with cell edge  .What is the

radius of sodium atom ?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

4.29Å

1.857 × 10− 8cm

2371 × 10− 7cm

3.817 × 10− 8cm

9312 × 10− 7cm

https://dl.doubtnut.com/l/_KX78ZGZemWXr
https://dl.doubtnut.com/l/_icAHVpRvToLA


11. Potassium has a bcc structure with nearest

neighour distance its atomic weight is 

 its density (in kg ) will be

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

4.52Å

39 m− 3

454

804

852

908

https://dl.doubtnut.com/l/_icAHVpRvToLA


12. The coordination number of each atom in

body centered cubic unit cell is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

4

8

12

6

https://dl.doubtnut.com/l/_KAXMhK3ss40A
https://dl.doubtnut.com/l/_pM1y9yU0pOiV


13. Find the coordination of  in .

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Na⊕ Na2O

6

4

8

2

https://dl.doubtnut.com/l/_pM1y9yU0pOiV


14. In a solid lattice the cation has left a lattice

sirte and is located at an interstital position ,

the lattice defect is

A. Interstitial defect

B. velency defect

C. Frenkel defect

D. Schottky defect

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_gy0lv9RXACQS


15. An element (atomic mass )

having bcc structure has unit cell edge 400

pm .Them density of the element is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

= 100g/mol

10376g/cm3

5.188g/cm3

7.289g/cm3

2.144g/cm3

https://dl.doubtnut.com/l/_qO5CTrqERhNb


16. If the pressure on a  structure in

increases , then its coordination number will

A. increases

B. decreases

C. remain the same

D. either (b) or (c )

Answer: a

Watch Video Solution

NaCI

https://dl.doubtnut.com/l/_Ds98tMDAEL0w
https://dl.doubtnut.com/l/_ZSYVvYJKcmNp


17. The edge length of a cube is  pm .its

body diagonal would be

A.  pm

B.  pm

C.  pm

D.  pm

Answer: c

Watch Video Solution

400

600

566

693

500

https://dl.doubtnut.com/l/_ZSYVvYJKcmNp


18. In closest packing of A type of atoms

(radius ) the radius of atom B that can be

fitted into octabedral voids is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

rA

0.155rA

0.125rA

0.414rA

0.732rA

https://dl.doubtnut.com/l/_uQJj8Gkb6PHl


19. Potassium has a bcc structure with nearest

neighour distance its atomic weight is 

 its density (in kg ) will be

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

4.52Å

39 m− 3

454

804

852

910

https://dl.doubtnut.com/l/_nw2H9hoXdswV


20. Ferrous oxide has cubes structure and

each edge of the unit cell is  .Assuming of

the oxide as  then the number of 

 inos present in each unit cell

will be

A. 

B. 

C. 

D. 

Answer: a

5.0Å

4.0g/cm3

Fe2 + and O2

FourFe2 + and fourO2 −

TwoFe2 + and fourO2 −

FourFe2 + and twoO2 −

ThreeFe2 + and threeO2 −

https://dl.doubtnut.com/l/_QanJRFX5nCHP


Watch Video Solution

21.  is white cold and yellow when heated,

it is due to the development of

A. Frenkel defect

B. Metal defect

C. Schonttky defect

D. Metal deficiency defect

Answer: b

ZnO

https://dl.doubtnut.com/l/_QanJRFX5nCHP
https://dl.doubtnut.com/l/_Hc321bQdkT5X


Watch Video Solution

22. f-centre is

A. anion vacancy occupied by unpaired

electron

B. anion vacancy occupied by electron

C. cation vacancy occupied by electron

D. anion present in interitial site

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_Hc321bQdkT5X
https://dl.doubtnut.com/l/_AuO0hhqjImE1


Assertion Reasoning Questions

1. Assertion :No compound has both schottky

and frenkel defect 

Reason : schottky defect change the density of

the solid

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_AuO0hhqjImE1
https://dl.doubtnut.com/l/_QHdZrhMHa5AO


B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_QHdZrhMHa5AO


2. Statement I: In any ionic solid  with

Schottky defect, the number of positive and

negative ions are same. 

Statement II: An equal number of cation and

anion vacancies is present.

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

[MX]

https://dl.doubtnut.com/l/_BQgKaQFlmvgW


the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

3. Assertion : Coordination structure of 

changes from  on heating 


Reason: The crystal structure  changed

in  on heating

CaCI

8: 8 → 6: 6

CaCI

NaCI

https://dl.doubtnut.com/l/_BQgKaQFlmvgW
https://dl.doubtnut.com/l/_lNA60DOLaRuF


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_lNA60DOLaRuF


4. Band gap in germanium is small. 

The energy spread of each germanium atomic

energy level is infinitesimally small.

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

https://dl.doubtnut.com/l/_lNA60DOLaRuF
https://dl.doubtnut.com/l/_quMrkiInMIVv


C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

5. Assertion : Diamond is a precious stone 

Reason : carbon atomic are tetrahedrally

arranged in dimond

https://dl.doubtnut.com/l/_quMrkiInMIVv
https://dl.doubtnut.com/l/_yYGBEZtCkXSj


A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_yYGBEZtCkXSj


6. Assertion (A) : In sodium chloride crystal,

 ions occupy  while  ions occupy

vertices of octahedron. 

Reason (R ) : The radius ratio of 

lies between  and .

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

Na⊕ OV s Clɵ

Na⊕ :Clɵ

0.4 0.7

https://dl.doubtnut.com/l/_yYGBEZtCkXSj
https://dl.doubtnut.com/l/_J0iP2OqiWz4R


B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_J0iP2OqiWz4R


7. Assertion : The number of tetrahedral voids

is double the number of octahedral voids 

Reason : The size of the tetrhedral voids is half

of that of the ochedral void

A. If both assertion and reason are true

and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

the assertion

https://dl.doubtnut.com/l/_2SnN30Ffs3SO


Section D Chapter End Test

C. If assertion is true bur reason is false

D. If assertion is false bur reason is true

Answer: c

Watch Video Solution

1. The mass of unit cell of  (fluorite

structure) corresponds to

CaF2

https://dl.doubtnut.com/l/_2SnN30Ffs3SO
https://dl.doubtnut.com/l/_0fCvrzlt8KS1


A. mass of  ions and  ions

B. mass of  ions and  ions

C. mass of  ions and  ions

D. mass of  ions and  ions

Answer: B

Watch Video Solution

8Ca+ + 4F −

4Ca+ + 8F −

4Ca+ + 4F −

1Ca+ + 2F −

2. Close packing is maximum in the crystal

which in the crystal which is

https://dl.doubtnut.com/l/_0fCvrzlt8KS1
https://dl.doubtnut.com/l/_rWuqDUG5zWYp


A. Simple cube

B. bcc

C. fcc

D. none

Answer: c

Watch Video Solution

3. An ionic compound  has  type of

structure if the radius  is  pm , then

the ideal radius of  is

AB ZnS

A+ 22.5

B

https://dl.doubtnut.com/l/_rWuqDUG5zWYp
https://dl.doubtnut.com/l/_f8NRGMViKvSw


A.  pm

B. 100 pm

C.  pm

D. None

Answer: B

Watch Video Solution

54.35

145.16

4. A pure crystallic substance , on being

heated gradually first a hurbit looking liquid

and then the furbidly completely disppears

https://dl.doubtnut.com/l/_f8NRGMViKvSw
https://dl.doubtnut.com/l/_xR4BCAPNPBfY


.This behaviour is the characteristic of

substances forming

A. Isomeric crystals

B. liquid crystals

C. isomorphous crystal

D. Allotropic crystals

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_xR4BCAPNPBfY


5. Under which category iodine crystals are

placed among the following

A. Ionic crystals

B. Metallic crystals

C. Molecular crystals

D. Covalent crystals

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_tt3KNiwv4p1P
https://dl.doubtnut.com/l/_NSJMJB525019


6. How many molecules are there in the unit

cell of sodium chioride?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

2

4

6

8

https://dl.doubtnut.com/l/_NSJMJB525019


7. The structure of  is silmilar to 

.What would be the radius ratio in ?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

TICI CsCI

TICI

0.155 − 0.225

0.225 − 0.414

0.414 − 0.732

0.732 − 1.000

https://dl.doubtnut.com/l/_UTlfpmOm4aTc
https://dl.doubtnut.com/l/_Bs7deCfkPq9P


8.  and  crystallize in bcc- and fcc-type

crystals, respectively, then the number of

atoms of  and  present in the unit cell

of their respective crystal is

A.  and 

B.  and 

C.  and 

D.  and 

Answer: d

Watch Video Solution

Na Mg

Na Mg

4 2

9 14

14 9

2 4

https://dl.doubtnut.com/l/_Bs7deCfkPq9P


9. In the closest packed struture of a metallic

lattice , the number of mearest neighhours of

a metallic atom is

A. Twelve

B. Four

C. Eight

D. Six

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_Bs7deCfkPq9P
https://dl.doubtnut.com/l/_poqYhsgfAuU4


10. The number of atoms in  crystal

with density  and the edge

equal to 100 pm is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

100ganf

d = 10g/cm3

4 × 1025

3 × 1025

2 × 1025

1 × 1025

https://dl.doubtnut.com/l/_poqYhsgfAuU4
https://dl.doubtnut.com/l/_Qlc5recZHoE4


11. Potassium has a bcc structure with nearest

neighour distance its atomic weight is 

 its density (in kg ) will be

A. 

B. 

C. 

D. 

Answer: d

4.52Å

39 m− 3

454

804

852

910

https://dl.doubtnut.com/l/_Qlc5recZHoE4
https://dl.doubtnut.com/l/_ML1mVhQS1Iv7


Watch Video Solution

12. Ferrous oxide has cubes structure and each

edge of the unit cell is  .Assuming of the

oxide as  then the number of 

 inos present in each unit cell

will be

A. 

B. 

C. 

D. 

5.0Å

4.0g/cm3

Fe2 + and O2

FourFe2 + and fourO2 −

TwoFe2 + and fourO2 −

FourFe2 + and twoO2 −

ThreeFe2 + and threeO2 −

https://dl.doubtnut.com/l/_ML1mVhQS1Iv7
https://dl.doubtnut.com/l/_jfq5AIb4QBPX


Answer: a

Watch Video Solution

13. In  ionic compound radii of 

 ions are  and  pm

respectively .The crystal structure of this

compound will be

A.  type

B.  type

C.  type

A+B−

A= and B− 180pm 187

NaCl

CaCl

ZnS

https://dl.doubtnut.com/l/_jfq5AIb4QBPX
https://dl.doubtnut.com/l/_ztqq6jJNsSq0


D. Similar to diamond

Answer: B

Watch Video Solution

14. In the calcium fluoride structure, the

coodination number of the cation and the

anion are, respectively,

A. 

B. 

6, 6

8, 4

https://dl.doubtnut.com/l/_ztqq6jJNsSq0
https://dl.doubtnut.com/l/_gUUsPBmbAPBR


C. 

D. 

Answer: b

Watch Video Solution

4, 4

4, 8

15. Which of the following has Frenkel defect?

A. Sodium chloride

B. Graphite

C. Silver bromide

https://dl.doubtnut.com/l/_gUUsPBmbAPBR
https://dl.doubtnut.com/l/_qtFnvnGU6j8k


D. Dimond

Answer: c

Watch Video Solution

16. Which one of the following is the most

correct statement?

A. Brass is an interstitial alloy, while steel is

a substitutionaly alloy

https://dl.doubtnut.com/l/_qtFnvnGU6j8k
https://dl.doubtnut.com/l/_prw5igSiXIFi


B. Brass is substitutionaly alloy, while steel

is a interstitial alloy

C. Brass and steel are both sobstitutional

alleys

D. Brass and steel are both interstitial

alleys

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_prw5igSiXIFi


17. The molecule having three fold axis of

symmetry is :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

NH3

C2H4

CO2

SO2

https://dl.doubtnut.com/l/_10JnFETAnovl
https://dl.doubtnut.com/l/_JeHXEMIWOAHl


18. In a  arrangement of  and 

atoms, where  atoms are at the corners of

the unit cell and  atoms at the face 

centres, one of the  atom is missing from

one corner in each unit cell. The formula of

compound is 

A. 

B. 

C. 

D. 

f. c. c. A B

A

B −

A

:

A2B6

A6B7

A7B24

AB4

https://dl.doubtnut.com/l/_JeHXEMIWOAHl


Answer: d

Watch Video Solution

19. In floorite structure 

A.  ions are ccp and  ions are

present in all the tetrabdral voids

B.  ions are ccp and  ions are

present in all the octabehdral voids

(CaF2)

Ca− − F −

Ca− − F −

https://dl.doubtnut.com/l/_JeHXEMIWOAHl
https://dl.doubtnut.com/l/_A3ukzXPTwh0o


C.  ions are ccp and  ions are

present in all the octabehdral voids

D. None

Answer: a

Watch Video Solution

Ca+ + F −

20. A solid is made of two element  and 

.The atoms  are in  arrangement while

the atoms  occupy all the terahedral sites

.What is the formula of the compound ?

X Y

Z CCP

X

https://dl.doubtnut.com/l/_A3ukzXPTwh0o
https://dl.doubtnut.com/l/_f7R7ImLyfJXu


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

PO2

P2O

PO

P2O2

21. The fraction of total volume occupied by

atoms in a simple cube is

https://dl.doubtnut.com/l/_f7R7ImLyfJXu
https://dl.doubtnut.com/l/_3yWtRg2fYoWz


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

π

2

√3π

8

√2π

6

π

6

22. The limiting radius ratio of the complex

 is[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_3yWtRg2fYoWz
https://dl.doubtnut.com/l/_6cElb8e1ydfP


A. 

B. 

C. 

D. None

Answer: b

Watch Video Solution

0.225 − 0.414

0.414 − 0.732

0.155 − 0.225

23. If the ratio of co-ordination no  to that of

 be  , then the formula of the solid is

P

Q Y :Z

https://dl.doubtnut.com/l/_6cElb8e1ydfP
https://dl.doubtnut.com/l/_6sapeKLza7xc


A. 

B. 

C. 

D. None

Answer: b

Watch Video Solution

PYOZ

PZOY

PzYOY Z

24. Xenon crystallises in face - centered cubic ,

and the edge of the unit cell is 620 pm .The

radius of a xenon atom is

https://dl.doubtnut.com/l/_6sapeKLza7xc
https://dl.doubtnut.com/l/_OSTskNgL1869


A.  pm

B.  pm

C.  pm

D.  pm

Answer: b

Watch Video Solution

438.5

219.25

536.94

265.5

25. The arrangement of  ions in 

structure is

CI − CsCI

https://dl.doubtnut.com/l/_OSTskNgL1869
https://dl.doubtnut.com/l/_L4luWKavItTq


A. hcp

B. fcc

C. bcc

D. Simple cubic

Answer: d

Watch Video Solution

26. The maximum ra dius of sphere that can be

fitted in the octahedral hole of cubical closed

packing of sphere of raius  isr

https://dl.doubtnut.com/l/_L4luWKavItTq
https://dl.doubtnut.com/l/_56o2g8O64Zop


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

0.155rA

0.125rA

0.414rA

0.732rA

27. The edge length of a cube is  pm .its

body diagonal would be

400

https://dl.doubtnut.com/l/_56o2g8O64Zop
https://dl.doubtnut.com/l/_p5KSqjOXdrmc


A.  pm

B.  pm

C.  pm

D.  pm

Answer: a

Watch Video Solution

693

566

600

500

28. Assertion (A) : The electrical conductivity of

a semiconductor increases with increase in

temperature. 

https://dl.doubtnut.com/l/_p5KSqjOXdrmc
https://dl.doubtnut.com/l/_vkcW2oEXkzGx


Reason (R ) : With increase in temperature,

large number of electrons from the valence

band can jump to the conduction band.

Watch Video Solution

29. Assertion : On beating ferromagnetic or

ferromagnetic substance , they become

paramagnetic 

Reason The electrons change their spin on

heating

Watch Video Solution

https://dl.doubtnut.com/l/_vkcW2oEXkzGx
https://dl.doubtnut.com/l/_EJaFhHkWbrqe


Others

30. Assertion :Lead zirconate is a piezoelectric

crystal 

Reason : Lea zirconate crystal have no diole

moment

Watch Video Solution

1. Bragg's X- rays diffraction studees are

successful when

https://dl.doubtnut.com/l/_EJaFhHkWbrqe
https://dl.doubtnut.com/l/_sOI3VoTE3D83
https://dl.doubtnut.com/l/_g7yzlQjb45Vx


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

λ > 2d

λ ≤ 2d

λ ≥ 2d

λ = d

2. Which of the following relation is correct for

first - order Bragg's diffraction?

https://dl.doubtnut.com/l/_g7yzlQjb45Vx
https://dl.doubtnut.com/l/_01ZpY5JT0Zrg


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

sin θ = (h2 + k2 + l2)
2a

λ

sin θ = (h2 + k2 + l2)
1 / 22a

λ

sin θ = (h2 + k2 + l2)
1 / 2λ

2a

sin θ = (h2 + k2 + l2)
2λ

2a

3. The oxide which shows metallic conduction

is

https://dl.doubtnut.com/l/_01ZpY5JT0Zrg
https://dl.doubtnut.com/l/_x7fBTlnETiZt


A. 

B. 

C. 

D. all of these

Answer: d

Watch Video Solution

ReO3

VO

CrO2

4. Select the correct match

https://dl.doubtnut.com/l/_x7fBTlnETiZt
https://dl.doubtnut.com/l/_SzvxM5quhO6e


A. Ferroelectricity 

B. Anti-Ferroelectricity 

C. Both of the above

D. None of the above

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_SzvxM5quhO6e


5. Which one of the following metal oxide is

antiferromagenetic in nature?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

MnO2

TiO2

VO2

CrO2

https://dl.doubtnut.com/l/_SzvxM5quhO6e
https://dl.doubtnut.com/l/_0uKefl8idgbq


6. Certain crystals produce electric signals on

application of pressure. This phenomenon is

called :

A. Pyroelectricity

B. Ferroelectricity

C. Piezoelectricity

D. Ferrielectricity

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0uKefl8idgbq
https://dl.doubtnut.com/l/_ZzWpyHhXoujI


7. Which of the following pairs contain

ferromagnetic and ferrimagnetic , solids

respectively ?

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

Fe2O3, Fe3O4

Fe3O4, Cr2O3

CrO2, Fe3O4

Cr2O3, CrO2

https://dl.doubtnut.com/l/_ZzWpyHhXoujI
https://dl.doubtnut.com/l/_vIUfvnxiyod5


8. Which of the following statements are true

?

A. Piezoectricity is due to net dipole

moment

B. Piezoectricity is due to aligment of

dipole in same direction

C. Piezoectricity is due to heating polar

crystals

https://dl.doubtnut.com/l/_vIUfvnxiyod5
https://dl.doubtnut.com/l/_3S2G1Mc4LQWt


D. All of the above

Answer: d

Watch Video Solution

9. The differaction of barium with X-cadiation

of wavelength  pm given a first - order

differaction at  .Thus , distance between

the two plannes is

A.  pm

227

30∘

114.5

https://dl.doubtnut.com/l/_3S2G1Mc4LQWt
https://dl.doubtnut.com/l/_LpkeMMkHTL9T


B.  pm

C.  pm

D.  pm

Answer: d

Watch Video Solution

229

458

227

10. Which arrangement of electron decides

ferrimagnetism?

A. ↑ ↑ ↑ ↑ ↑

https://dl.doubtnut.com/l/_LpkeMMkHTL9T
https://dl.doubtnut.com/l/_V74onOYZtoP4


B. 

C. 

D. None of these

Answer: c

Watch Video Solution

↑ ↓ ↑ ↓

↑ ↑ ↑ ↓ ↓

11. In Bragg's X-rays diffraction studies , 

pm has second - order diffraction at glancing

angle of  Its interplanar spacing will be

100

30∘

https://dl.doubtnut.com/l/_V74onOYZtoP4
https://dl.doubtnut.com/l/_E9vz3eFEmf86


A.  pm

B.  pm

C.  pm

D.  pm

Answer: a

Watch Video Solution

200

150

100

144

12. At what angle for the first - order

diffraction, spacing between two planes

respectively is ?λ and
λ

2

https://dl.doubtnut.com/l/_E9vz3eFEmf86
https://dl.doubtnut.com/l/_5msMZBoXUdSZ


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

0∘ , 90∘

90∘ , 0∘

30∘ , 90∘

90∘ , 30∘

13. Which substance shown

antiferromagnetism?

https://dl.doubtnut.com/l/_5msMZBoXUdSZ
https://dl.doubtnut.com/l/_BCHowEUZZOIF


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

ZnO2

CdO

CrO2

MnO3

https://dl.doubtnut.com/l/_BCHowEUZZOIF

